
���������� ��	
 � ������	
�
�� �� ���� ���� � �����
��� ���
������ ! �� " �������� ����� � #�$��
A %�
��&#������� &���'( ) *�
��� ��������

P
�
M

� ��+,,�-���# #�����&���'����� � �����
A
) .������ �� ��&���� 
 ��� � ��#��/ ) 0�� ����/ ���1$���2 &���

F
&�&#��� ��/�
�#&� � ��������� �������&��3

456575 89:; <:< =>

? @
?

6
F

-P �
	

�

M

A

P = 399 AB C M = 1596 ABD C fEF = 5/4 G

456575 89:; <H < =>

I J ?

?
�

F

6P �
	

�

M
A

P = 23 AB C M = 28 ABD C fEF = 4/5 G
456575 89:; <K < =>

J L
M� F

?
P

�
	

�

M

A

P = 23 AB C M = 540 ABD C fEF = 2/3 G

456575 89:; <N < =>

L J
M-
F

?
P

�
	�

M

A

P = 31 AB C M = 700 ABD C fEF = 3/4 G
456575 89:; <O < =>

? L

J
� F

6P

�
	�

M

A

P = 11 AB C M = 70 ABD C fEF = 1/2 G

456575 89:; <P < =>

? M

?
� F

?
P

�
	

�

M

A

P = 1 AB C M = 11 ABD C fEF = 1/2 G
456575 89:; <Q < =>

L J R
R
L

-F
6P

��
?M

A

P = 63 AB C M = 126 ABD C fEF = 2/3 G

456575 89:; <S < =>

6
F

� P

��
?M

A I ?
M
R

P = 1 AB C M = 16 ABD C fEF = 1/2 G



456575 89:; <T < =>

R I L
R
M

�F
6P

��
?M

A

P = 27 AB C M = 27 ABD C fEF = 2/3 G

456575 89:; <:; < =>

U L

?
-F

?
P

�
	�

M

A

P = 131 AB C M = 33 ABD C fEF = 1/6 G
456575 89:; <::< =>

? ?
L

� F

?
P

�
	

�

M

A

P = 28 AB C M = 483 ABD C fEF = 2/3 G

456575 89:; <:H < =>

L J L
R-

F

?
P�

	
�
M

A

P = 31 AB C M = 90 ABD C fEF = 3/4 G
456575 89:; <:K < =>

R ? J
?

�
F

6P �
	

�

M
A

P = 40 AB C M = 89 ABD C fEF = 3/4 G

456575 89:; <:N < =>

?
F

�
P

��
?M

A

M ?
M
M

P = 5 AB C M = 210 ABD C fEF = 3/4 G
456575 89:; <:O < =>

R ? ?

?
�

F

6P �
	

�

M
A

P = 4 AB C M = 15 ABD C fEF = 2/3 G

456575 89:; <:P < =>

? U

J
-F

?
P

�
	�

M

A

P = 64 AB C M = 45 ABD C fEF = 1/3 G
456575 89:; <:Q< =>

? ?

J
-F

6P

�
	

�
M

A

P = 5 AB C M = 81 ABD C fEF = 2/3 G

456575 89:; <:S < =>

L J
R

?F �P�
	

�
M

A

P = 294 AB C M = 504 ABD C fEF = 4/5 G



456575 89:; <:T < =>

6
F

� P

��
?M

A R J
M
R

P = 5 AB C M = 7 ABD C fEF = 2/3 G

456575 89:; <H; < =>

J J R
RR

-F

?
P��

? M

A

P = 35 AB C M = 70 ABD C fEF = 1/2 G
456575 89:; <H:< =>

?
F

�
P

��
?M

A

R ?
M
M

P = 2 AB C M = 42 ABD C fEF = 2/3 G

456575 89:; <HH < =>

J L

?
6

F

-P �
	

�

M

A

P = 77 AB C M = 341 ABD C fEF = 2/3 G
456575 89:; <HK < =>

?
F

-
P

��
?M

A

? M
M
M

P = 1 AB C M = 9 ABD C fEF = 3/4 G

456575 89:; <HN < =>

?
F

-
P

��
?M

A

? M
M
M

P = 1 AB C M = 54 ABD C fEF = 3/4 G
456575 89:; <HO < =>

?
F

-
P

��
?M

A

? M
M
M

P = 1 AB C M = 84 ABD C fEF = 3/4 G

456575 89:; <HP < =>

J ?
M

?F
�P�

	
�
M

A

P = 30 AB C M = 80 ABD C fEF = 4/3 G
456575 89:; <HQ< =>

L ? L
L

-
F

6P�
	�

M
A

P = 25 AB C M = 81 ABD C fEF = 4/5 G

456575 89:; <HS < =>

L L R
R
?

-F
6P

��
?M

A

P = 40 AB C M = 40 ABD C fEF = 2/3 G
V1 WX



YZ[\Z] ^
_`[ab[\cd\ e`f] c Ze\ad\f gh Gij Gji gk
l

Fm
28 < F < 228 nop
−20 < F < 180 noq
−60 < F < 180 nor
−84 < F < 300 nos
−5 < F < 35 not
−1 < F < 11 nou
−77 < F < 51 nov
F > 6 now
−9 < F < 23 nomx
156 < F < 204 nomm
−42 < F < 138 nomp
−30 < F < 66 nomq
−27 < F < 117 nomr
F > 32 noms
−2 < F < 10 nomt
33 < F < 75 nomu
−6 < F < 54 nomv
15 < F < 35 nomw
F > 6 nopx
−7 < F < 25 nopm
F > 9 nopp
6 < F < 66 nopq
F > 2 nopr
F > 8 nops
F > 12 nopt
1 < F < 5 nopu
−16 < F < 144 nopv
−30 < F < 33 noyz{| }~�� � mx�mu�


